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EXAM DATE : e7-January-¢0I8
EXAM NAME : 55C Examination
TOTAL MARKS : €00

QID ;1001 - In the Following ouestion, select the related word pair From the given alternatives.

Court : Judge ::7:7
FrafafEa we & Ry my el 4 & ¥5i@a o= gm &1 gl

Optlons:
{) School : Teacher
| HETTH
&) Factory : Wages
therex | FaTg
3) Company : Shares

ot R
%) Restaurant | Food
AT © e

Correct Answer. School : Teacher
| SR

Candidate Ansier: School ; Teacher
| SR

QID : 1002 - In the following puestion, select the related word from the given alternatives.

AC : Cool ; : Heater : 7
Frafof@a nw # Ry 1y fesedt # € dafta s=g &t g1

ot &= dew 7
Options.

1) Electricity

é) Ray

[Eaul

3) Heat

et

4) Shine
THRAT

Correct Ansier, Heat
i

Candidate Answer. Heat

QD : 1003 - In the Following puestion, select the related word From the given alternatives.

Mitk : Drink :: Food . ?
frafeif@d e # Ry 1y Reseai 7 € dafta v @@t g
gor die s oteT 7

Cptions:
{) Drink
iG]

é) Hot
bt

3) Table
L]

&) Eat

ol

Correct Ansier. Eat
GrEr
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Candldate Ansier. Eat
Gl

QD : 1004 - In the following puestion, select the related letters From the given olternatives.
DRUM : JXAS :: CROP . ?
FrafafEa e & Ry g e d 3 w=5i e & g

DRUM : JXAS :: CROP . ?

Options:
1} AZSN

é) Ixuv
3) UNSV

&) YV X

Correct Answer. (XU

Candidate Answer: [XUV

QD 1 1005 - |n the Following puestian, select the related letters From the given olternatives.
TOMB : ZOMV .. LYMP . 7

ot e § Ry 7y ot 9 @ F=ia e & g

TOMB : ZOMV .. LYMP . ?

Options.
1) PMSP

) FNCF
3) NOWN

&) NSHN

Correct Answer. NOWN

Candidate Answer. NSHN

QD : 1006 - In the Following puestion, select the relagted letters From the given alternatives,
STOP : WQSM . : MORK :?

et wer § Ry 7y e 4 € w&ia aer & g

STOP - WQSM . : MORK : ?

Options.
1) QU/H

¢} SLMH
3) QPVS

&) QLT

Correct Ansier: QLVH

Candidate Anstver. QLVH

QD : 1007 - In the Following guestion, select the related number From the given alternatives.
4 :62::37:7

frefeifEa uw # Ry 1y fesedt A @ dafua e &t g
4 :62::37:7

Options:

1) 60

c) 58

3)74

4) 82
Correct Ansiver, 58
Candlidate Ansier, 58
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QID : 1008 - In the Following puestion, select the related number from the given alternatives.
63:108::42:7

frafafEa e & Ry g et 4 & ¥=5i¥a T & gfhgi
63:108::4¢:7

Cptlons,

i) 3

c)é

3) 16

4) Ie

Correct Answer. 8

Candidate Answer. [ NOT ANSWERED |

QD : 10089 - In the Following puestion, select the related number From the given olternatives.
7:346.:9:7

frafafEa wer & Ry 7y et 4 € J&ifa T & gfgl

7:346..9.7

Options.

1) 515

&) 343

3) 732

&) 636
Correct Answver. 73
Candidgte Answer. 73c

QD : 1040 - [n the Following puestion, select the odd word From the given alternatives.

frafafEa e & Ry 7y e 4 @ v e &6t g

Options:
{) River
EEl|

é) Sea

Ak
3) Lake
gl

4) Land
Correct Ansier. Land

Candlcdate Answer. Lond

QID : 10I - In the Following ouestion, select the odd word From the given alternatives.

frafeifEa e # Ry 1y fesedt & € fuw aeg &t 9i-g)

Options:

1) Eagle
m™e

&) Sparrow
Rafgar

3) ;?obbk
w@Tar

4) Parrot

Correct Ansier: Rabbit
q

Candidate Answer. Rabbit
q

QHD 2 10IE - In the Following puestion, select the odd word From the given alternatives.

FrafeifEa uw & o My et & & fauw g &t gy
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Options:

1) Adancic Ocean

HY AR

&) Austration Ocean
It HETETT

3) Pacific Ocean

T HEMETT

4) Indian Ocean

fEe mERmR

Correct Answer. Australion Ocean
T HETETT

Candidate Answer. Australian Ocean
HETET

QID : 1013 - In the Following puestion, select the odd letters from the given alternatives.

frafeifEa e # By g fesedt & & fww s1ed &t gy
Ogptions:

) oCJ

e)amw

3) RUY

4) XAD

Correct Answer. RUY

Candlidate Answer. RUY

QID : 1014 - In the Following puestion, select the odd letters From the given alternatives.

frafefEd uw # Ry 1y et & § fww serf ot g
Ogptions.

1) wra

e) s

3) TaN

4) FOX

Correct Answer. FCX

Candlidate Answer. FCX

QID : 1015 - n the Following puestion, select the odd letters From the given alternatives.

frafeif@a e # By 1y fRfeedt & & fuw s1ert ot g
Options.

i) SNI

¢) PKE

3) FAV

4)YTO

Correct Ansiver, PKE

Candlidate Answer. PKE

CQHD 2 1046 - In the Following puestion, select the odd number pair From the given alternatives.

frafeif@a e # Ry 1y fesedt # & fuw dwar g &t 9w
Options:

i) 4 - 54

e} -7

3) 54 -77

4) 66 - 79

Correct Ansiver, 54 — 77

Candidate Answer. 54 — 77

QHD 2 1Of7 - In the following puestion, select the odd number from the given alternatives.

FrafeifEd e # Ry 1y et 4 & fauw d@en &t ghm)
Options.

)16 -4

&} 17 -5

3)18-¢7

4) 19 — 285

Correct Ansier, (7 — 235

Candidate Ansier: [ NOT ANSWERED |

QID : 1018 - [n the following puestion, select the odd number pair from the given alternatives.

Frafafea we # Ry 1v fesedt A § foww de g &t 9w
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Options:

f)ce - 55

2) b - 85

3) 30 -85

4) 38 — 95

Correct Answer: 30 - 85

Candidate Answier: [ NOT ANSWERED |

QID : 1019 - Arrange the given words in the sepuence I which they occur in the dictionary.

{. Consideratfon
é. Conslst

3. Conguer

4, Connect

5. Confusion

Fefeia =l o1 wsEai 7 A a A & Sgar o)

{. Consideration
é. Consist

3. Conpuer

4, Connect

5, Confuslon

COptlons,
1) 453l

&) suile
3) 3s4e

4) 13542
Correct Ansiver, 543i¢
Candidate Answer, 5431

QID : 1080 - According to dictlonary, which of the Following word will come ar THIRD position?

{. Emergence
€. Eminent

3. Eligible

4. Element

5. Elated

arEgeRter & AR, FrefafEa & & & o a= fed e w s

1. Emergence
&, Eminent

3. Eligible

4, Element

5, Elated

Cptlons.
1) Eligible

&) Eminent
3) Element

4) Emergence
Correct Answer; Eligible
Candidate Answier: Eligible

QIO : 10€1 - From the given alternatives, according to dictionary, wihich nword will come at LAST position?

faq Ty femedl A €, gy & SR, Hi T U Hfew WM W SRR

Options:

1) Hobble

&) Historic

3) Hinder

4) Hold

Correct Answer, Hold

Candlidate Ansiver. Hold

Page 5

QID : 108¢ - A series is given with one term missing. Select the correct alternative From the gliven ones that will complete the serles.

MOB, LW, CER, KMZ, 7
Ueh SEA fear T &, e ¥ U U o« &) By T eeedl A € a8 98 fieen g, St age @t g e

MOB, UWJ, CER, KMZ, ?
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Cptlons.
1) My

e} IKF
3) SUH

4) FIR
Correct Answver, SUH
Candlidate Answer, SUH

QID : 103 - A series Is given with one term missing. Select the correct alternative From the given ones that will complete the series.
FQ, JW, NC,?
Ud AgenA BT man &, o 9 e g @ g1 Ry v el A @ a8 98 fAeen g, St age @t gm e

Q, W, NC, 7

Cptlons,
1) oP

é)aH
3)5v

4) R
Correct Answer: R/
Candidate Answer. Rl

QID : 1064 - A series Is given with one term missing. Select the correct alternative From the given ones that will complete the serles.
LGB2RM

T A i man 2, o & o U g &1 Ry e el d @ ag @61 oeeew g, S e =l R

LGB2ZRM

Optlons:

) A

eV

3w

&)X
Correct Answer: |V
Candidate Answer: |V

Q1D 1 10S5 - In the Folloming ouestion, select the milssing number from the given serles.
76, 3,99, 12¢, &l ?

At e & Ry g e 4 @ gm sfe @ S|

76, 23,99, 1e¢e, &l ?

Cptions:

1) 447

é) 528

3) 343

&) 309
Correct Answer. 343
Candidate Answer. [ NOT ANSWERED |

QD : 1086 - In the Folloming puestion, select the missing number from the given series.
46, £35, 945, OB40, 5685, 7
frafafEa wer & R’y g S 3 8§ g s 7 S

46, £35, 945, OBYO, 5685, 7
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Optlons.
1) 7218

é) 6380
3) 7445

4) 5400

Correct Answer, 5690
Candidate Answier. [ NOT ANSWERED |

QD : 10€7 - In the following puestion, select the missing number from the given serles.
13,13, 195, 39,975, 7
frafefEd uw # Ry 1y faesedt # € @ o aa Hifem)

i3,13,195, 39,975, 7
Cptlons,

1) 3935

)19t

3) 3le

4) 2925
Correct Answer, 2985
Candidate Answier: [ NOT ANSWERED |

QID : 10€8 - Five cors are parked In a Une. Honda Is between BIMW and Suzuki, Toyota Is ahead of Mercedes. Suzuki (s ahead of Toyota. Which is the second
car in the line?

Ui &R e oled | Urh i §3 21 glel, diunssy ofik gaeh! & #19 g, ciatel AfEShT & N 1 ! il & STt g1 e ® gF W 0¥ &9 o &R 87

Options.
1) BMw

&) Suzuki

gIH

%f'-ronda

&) Toyota

Ziter

Correct Answer. Honda

Candlidate Answer. Honda

QID : 1069 - Ar o wedding A said to B that the groom was her sister's son. B said that the bride was the daughter -in-law of his brother. How are A and B
related to each other?

forett et & A 77 5 & wg1 o grer S9! a6 w1 OA ATl £ 7 T & geed 99a | & ag ot A 997 B U o | e ave gefa 7

Options:

1} B is A's brother's wilfe's sister.
B, A WIS ! Uil &t @87 &

&) Als B's wife's brother's sister.
ABHR Tt & v fraga g

3) Alis B's brother's wife's sister.
A, B & K & Ut Hl T8 8

4) B is A's mife's brother's sister.

BARTH FuEfagT g

Correct Answver; A is B's brother's wife's sister.

ABFyEfiafifagr g

Candidate Answer. B is A's wife's brother's sister.

B, AF ot & i frapT &

QD : 1030 - From the given alternative mords select the word which cannot be farmed using the letters of the given word.
FORFEITURE

frafeif@a el § © a8 e gy &t Ry 10 ueg & sted o1 i &edh 81 @ o gehar

FORFEITURE

Options:
i) Forte
é) urate
3) route
&) fruit
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Correct Answer, urdte
Candldate Ansiver. Urate

QHO ;1031 - If CONTEND is coded as XLMOVMW, then how will SAY be coded as?

af& CONTEND =t s | XLMCV MW o SimaT § af SAY @i @l # = fede?

Options.
1) HzB

¢} UCA
3) RZX

4) 782
Correct Answer. HZB
Candidate Ansiwer. HZ8

QD : 1032 - In a certain code language, 893 means 'sow and you reagd’, #86C means "vou and | go' and 853% means 'oig and soiw eat’. Find the code For 'som’.

forelt fAfarT ate st F 8193 @1 Y @ ‘sow ang you reap’, 986C 1 a1 & ‘you and | go' o 8534 &1 o1 & 'pig and sow ear’] 'sow’ & TAT &g I R

Options:
)8

et
39

4)3
Correct Ansier: 3
Candidate Answer. 3

QD : 1033 - In a certain code language, '+’ represents -, - represents 'K, 'K represents '+ and ¥ regresents '+ Find out the answer to the Following puestion.
IeOnB-85+36+6=7
fereht Ffde g s § '+, & vefd Far &, -, ' &) WefRiE FRa &, w0 = Sl TRl @ § iR Y, '+ ot eiRta e 1 FrafafEa oy 1 SR e Y

ICOK8-85+36+6=7
Options:

i) 965

&) 405

3)es

4)73

Corract Ansiwer. 405
Candidate Answier, 405

QID 1034 - IF 19 5 Cé6 = 14 and 8 § 160 = 2O, then Find the value of 3 5 54 = 2

R 19 5 266 = 14 B S 160 = 20, Tt ¢ S 5% = 2 & HIF Fia 7
Options.

e

&) 63

3) 45

4)3

Correct Ansier. 6

Candlidate Ansiver. 6

QID:1035-If AS B means Alis son of B, A# B means A is brother of 8 anad IF A* B means A is Father of B, then what does X *Y # Z 5 W mean?

RASETmALE A B TR AT mieF AT Mo A g AsmOmMeM X *Y # 25 W waam arf 7
Options:

i) X is sor's son of Z

XZF PR AR

&) X is father's Father of Z

X, Z & Torem & foyem 2

3) X issonof 7

X, ZH®GEFE

4) X is father of £

X, 2@ faan g

Correct Answer. X s father of Z
X, Z &1 o

Candidaie Ansiver, X Is Father of Z
X, Z = firen
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QID : 1036 -

Select the missing number from the given responses

for g farepedt % <& o ST g

7 4
4 10

=)

COptlons.
i)-&

e
3)+

i) 14
Correct Ansier, -6
Candldate Answer. -6

QID : 1037 - Which of the following terms Follows the trend of the given list?
ABACBABAB, ABCABABAB, ACBABABAB, CABABABAB, ABABABABC, ____ —e
Preaferf@a & & @i a7 ug & it g & @ & srgER @7

ABACBABAB, ABCABABAB, ACBABABAB, CABABABAB, ABABABABC, __________

Cptlons.

1) ABABABCAB

Z) ABABACEAB

3) ABABCABAB

4) ABABABACB

Correct Answer. ABABABACE

Candidate Answer. ABABABACE

QID : 1038 - A auto picks a passenger and travels West 35 ki, then it turns to Its left and rides for another 25 km, then it turns East and rides for 65 km, then
it tUrns to lks left and rides 25 km. Where is the dUto now wilth respect to lts starting position?

T Hlet DER & e aifw &t o 3.5 heiter Foran €1 i g8 91 9l g 2.5 el actan & @ Tt a8 ud & ot Heaw 4.5 fheivtex a1 &1 56 a1 9g a8 Y
HEwe &5 fenelivies Terar 21 sifel arot nRfse fEfa & &ef &7

Options,

) 3 km East

3 Toretite &

&) 3 km West

3 oreiteR

3) 10 km Eost
10 ferethiier gd

#) 10 km West
10 Tereiiier ufgm

Correct Answer: 3 km East
3 Tenetpftex

Candidate Answer: 3 km East
3 foperiviter od

QID : 1039 - Two taxis start from the same stand. Taxi A travels 1O km North, then turns to its right and travels a Further 7 km. Meamwhile Taxi B travels 6 km
West, then Turns South and travels 5 km, then it turas to its left and travels 13 km. Where is Taxi B with respect to Taxi A?

Tt 2Rl e g & g e gl 81 2 A, 10 fpaifier IR i ofit Tt 8 ok five aifelt ofi qeam 7 freiier 9ol &1 3=ft o dRh B, ¢ foneiidier ufgm & e
Terdl 3 aun iz afévor &t sik gsar 5 et e 8 ok iR ard i g 13 Rreifiez oot 81 Eelt A & daof & 2oft B gl @7
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COptlons.
1) 15 km North
15 ferettHlex oo

&) 15 km South
15 Tenwiteitex gfdor

3) 5 km South
5 fermrie

%) 5 km North
5 fereHieR TR

Correct Answer: 15 km South
15

Candidate Answer. [5 kim South
15 Figr

QID : 1040 - In the puestion two statements are given, fFollowed by two conclusions, | and Il You have to consider the statements to be true even if it seems to
be at variance From commonly known Faces, You have to decide which of the given conclusions, if any, Follows From the given statements.

Statement [ All sky is blue
Statement Il Some red Is sky

Conclusion . Some red is blue
Conclusion I, All red is blue

us A gt e el T E o a2t Fseed | ofiv 1 Fiaret T8 &) et WA € ok g1 e e & 9 98 "mie 719 a6 Uddtd gl 8l suent Fofa e € & Ry
Ty fseRet § T SE-a/EE-E AR 0 3 sy gR 98 e o O &89 8, 31g &S 8t

FYA [ g7 AR Aien &
FU (|, TS I ITRIT &

e £ o e e
e 11 Tt e e @

Cptions:
{) Only conclusion | Follons

fwer | w2

&) Only conclusion If Follows

et feed ) ol 2

3) Both conclusions | and Il Follow

AT Al T o -+

&) Neither conclusion | nor conclusion If follows

1t =Ry / Tt & 1 8t Freny

Correct Ansier. Only conclusion | Follows
had ey | agt @

Candidate Answer. Only conclusion | follows
e ey |/ @gl &

QID : 109 - In the puestion three statements are given, Followed by three conclusions, [, Il and [l You have to consider the statements to be true even IF it seems
t@ be at variance fFrom commonly known Facts. You have to decide which of the given conclusions, if any, Follows from the given staterments.

Statement [ Al race is running
Statement Il Some running is sports
Statement It Some roce is athletics

Conclusion & Some running is athletics
Conclusion If: All athletics Is sports
Conclusion It Some running s race

o § I Fue D w8 & s ot i fssd /) 1 ofR /7 Feerel w8 &) et wen @ R T e oo € 91 98 I 9 9wt @ {99 udie g g@il et fofg @ &
i Ry e Prepat § & sA-w/aa-8 RAfEg 50 @ @ g g8t P sn a5 /99 E, 3 518 gh

Fu L oefi i de g
FHY [ D e Wy &
FUA M g T gdifeaT &

e | g e gdoiftaw &

freepd 1 meft gdeifeam T &

Prepd i B SN R E

Cptions:

1} Only conclusions | and If Follow
forsenef J afle / =El |

é) Only conclusions Il and Il follow

ot ey J) ot ) TE @

3) Only conclusions | and NI Follow
haat g | s i T8t g

&) All conclusions [, If and (i €ollow

= P /) o wE E
Correct Ansiler. Only conclusions | and Il Follow

e frerd J o ) gt &
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Candidate Answier. [ NOT ANSWERED ]

QID : 104¢ -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

freferRad ITR anmpfer & & @l |1 o few v oy
JATHIT H ol B A FRAT Fal ST Fehell?

O
o.o*. <
]

COptlons,

=

My

& &

b

K=

=

&

www.ErForum.Net
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Correct Answver,

s

Candidate Ansiver.

e

QID : 10%3 -

Which of the following answer figure patterns
can be combined to make the question figure?

frrferRaa ST amepfr § & @i & uftreal ot
SiTEe 3T T W2 TTper T 1T T el 87

www.ErForum.Net

Options:
b

¢)
3)

4)

Correct Answer.

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net
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QIO : 1044 -

In the following figure, square represents
doctors, triangle represents artists,

circle represents weight-lifters and
rectangle represents Russians. Which set
of letters represents Russians who

are not doctors?

PrefeaRaa fomr 3 o, Sfaret o) nafifa swar g,
e @R @1 weldid @var 8, g, dc fored @i
wefdie @ & 3ilY ange W o1 nafia Fwar &1
e T I T TR I A B weffa awar & S

Sacy 78 &2
A\ ©
Ly
E
\.___.'j/
D F
B
Options:
1 EF
é) HB
3)GE
4) DG

Correct Answer. DG
Candidate Answer. DG

QHD : 1045 -
Which of the following Venn diagram represents the relationship
between Doctors, Men and Indians?

frafaf@a & @ #la a1 37 Ry deed, god R st &
A Fay wefT Far 7

www.ErForum.Net
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Cptlons.
f

My
it

L B & @

L
~—

5
et

Correct Ansiner.

&

Candidate Ansiver.

&

QD : 1046 -

www.ErForum.Net

Which answer figure will complete the pattern in the

question figure?

fFrferRad 7 & pia-ft ST arrpfar w mpfar & ftey

T gRT A2

www.ErForum.Net
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Cptlons.
f

e)

3)

4)

Correct Ansier,

Candidate Ansiver.

www.ErForum.Net
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QID : 10%7 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

& it IR ATl H & I Ay Y AT o e
sty ffee 21

Optlons:
f)
c)
Z
N
FA™
3)
4)

Correct Answver.

www.ErForum.Net
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Candlidate Ansiver.

/

QD : 1048 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T JTPTeT H T SR BT Pl AISDR ITH
B PR TAT TN B ST T8 ey ST TPier ST
fezarg <am?

1
+
4

Options:
h

€)

3)

#)

www.ErForum.Net
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Correct Ansiner.

A
> %
8\
> %

QD : 1049 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

AfS T YT Y MN XGET TR 3@ 1Y at & Tl ST
Rl 7 & B 3Ty 7 AHHY b e
nfcifares gnfe

M N

Yl

www.ErForum.Net
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Cptlons.
]

%
2
I
=

Correct Ansiver:

X

Candlidate Ansiver.

X

www.ErForum.Net
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QID : 1050 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the altemnatives are
represented by two classes of alphabets as shown in the given two
matrices, The columns and rows of Matrix-l are numbered from O to 4
and that of Matrix-ll are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its column, for
example ‘G’ can bz represented by 31, 13 etc and 'X' can be represented
by 89, 75 etc, Similarly, you have to identify the set for the word "AWRY'.

UF e del U GEAL-HHE @R g g g S
fawedi F & e va & g o &) fawew d Bw v F@e-
T el & o @t qarr g v St R R e &
3l A B wege-l & woeer AR offe Y g od 43k
G-I S 9F1 S ARl | U W @ TEe ITh
GfFa AR Ag F TaEw dE g@rn g S e B 3EeReT
& fore ‘¢’ & 31,13 31f Z@RT ZefFT S FHAT & dUT X W 89,
75 31e; Z@WT g S @ &1 S AWE F 3w wead F
few wreg ‘AWRY' & 0T THF @ qEdEe £

Matrix | Matrix Il

g -1 IR -
0|1|2[3]| 4 5|6|7]|8]9
O|B|[F|(B|J|B S|O|R|N|[S]|P
1 F | C|G|M 6C|S|Y|T 515
2|AJA M| LI 7I1X]TIYIN]Z
3|G|G|A|F|G gla|Xx|z|[P]|X
4|A|D|B|E|D 9/|0|W|V|(V]O

Options:
1) €178,4256

¢} 32549831
3) 33772142

&) C0R65677
Correct Answer. c0.96,56.77
Candidate Answer. ¢{784¢,56

QD : 1051 - Which of the Following is not taken inte account t@ estimate national income?

ST AT & HTEReE Tl gu efafEe § § fergeht o 7@ & et &7

Optlons:
1) Services of a personal secretary

afm

€) Services of a housesife

3) Services of a car driver
I TATeeh i Targ

4) services of touriest guide

e MEs d gand

Correct Answer. Services of a houseriife

Tfevult &t darg

Candldate Answer. Services of a personal sacretary

frsit @fee &t damd

QID : 105¢ - Parollel economy emerges dueto _______ _

Options.

1) Tax Estimation
H ALAH

&) Tax Compliance
T AT

3) Tax Avoldanc
T

4) Tax Evasion

& A=

Correct Answver. Tak Evasion
&Y de

Candidate Answisr: [ NOT ANSWERED |
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QID : 1053 - Approximately how much Is the net area under croEs sownin in India?

HRA A ! &l g & Jaid UG Shel aiTH fehar 87

Options:
1) 4 crore hectares

14 TS BaER

&) €0 crore hectares
0 TR

3) &€ crore hectares
¢ T8 BRI

4) &% crore hectares

o4 TG FRW

Correct Answer; [4 crore hectares

14 TS BT

Candidate Answer: cC crore hectares

¢ IS EEIY

QID : 1054 - In wihich of the Following year Micro, Small and Medivum Encerprises Development Act (MSMED) mas passed?

frfafEa # 9 e af gen, g vd aem 3em R wfdfom (oagagadd) wika gen?

Options:
1) €004

é) 005
3) co0s

&) 2007
Correct Ansier. 006
Candidate Answer: [ NOT ANSWERED |

QD : 1055 - As per Census of Indig-cOl which of the Following pairs of cities recorded the highest population?

IR T TUE-CON & IR Fattdes sremn Fefefas iy gt § 4 o oof & me
Optlons;
1} Delhi and Chennai
Td e
&) Delhi and Kolkara
et ud shivtenman
3) Delhi and Mumbai
et g
&) Mumbai and Chennai
Trag gd w9y
Correct Answer. Delhi and Mumbai
feett gd g
Candidate Answer. Delhi and Mumbai
feeeft o Hrrd

QID : 1056 - "The state s everyivhere! it leaves hardly o gog”, this statement explolins the concept of _________ :

‘I Y SR B UE UTAE Bl IS Sadldd Siedl &, U5 S g e 6t @re awar 87

Options:

1) Welfare State

FegTUERT! T

&) Police Staee

gier Iwg

3) Democratic Staee
EE

4) Communist State

I

Correct Answer: Welfare State
Eiis

Candidate Answer. Welfare State
L

QID . 1057 - In which report of the Second Administrative Reforms Commission has identified "Citizen-Centric Administration” as barriers of Good Governance in
India?

TER warfe ol & R ofides F wra d ramie- SR var & uger g & areredt & w0 § hr w2
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Options:

i) " Report
&-31 Hferdes
e) 8" Report
&ai

3) 10*h Report
lo-at ufade
4) (et Report
Ie-at ufede
Correct Answer 12" Report
le-at ufedes

Candidate Answer, 6™ Report
&3

QD : 1058 - Which Schedule of the Constltution of [ndia lises the States and Union Territories of India?

HId & el AT draniea Wt @ |y 6 e s A getag e w87

Options:
1) First Schedule
BES

&) Second Schedule
3) Third Schedule
GIEE)

4) Fourth Schedule
Treft
Correct Answver, First Schedule

Candidate Answer. Third Schedule
At

QHD : 1059 - As per the Constitution of India, who is authorized to transfer the Judge of the High Court to another High Court?

T & WY & AR AT =i F1 U 3= ey 9 gEe 359 Eed § WG @0 g O erfliea fera mar 27
Cptions:
{) The Chief Justice of India
T & T e
&} The Speaker of the Lok Sabha
areney
3) The President of India
WA & el
4) The Prime Minster of India
A & TRHAT

Correct Ansiler. The Fresident of India
A & JEUfy

Candlidate Ansier. The Chief Justice of India
T & = e

QID : 1060 - Which article of the Constitution of India ensures the Freedom of the press?

A & Hfee § 09 &t T R o= & dgd giniae g @7

Options:

{) Article 15

e 15

&) Article 17

ITDE 17

3) Article 12

DT 19

&) Article &1

T O

Correct Answer. Article 19
DT 19

Candidate Ansiver: Article 19

ATHG 19

QID : 1061 - Who was the first Tirthankara of Jainism?

S o & TEe diziee @ 97
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Options:
1) Mahavir Swamy
HedR @

&) Alitnath
Aty

3) Rishabhdev
EE ]

4) Parshinanath

grafATy
Correct Answer: Rishobhdev

Candidate Answer. Rishabhdey

QHD : 106€ - Who was the First Cupta ruler to actain che title of Maharaiadhiraia?

HERTATTIS i JUTY o aTell W T UTHedh i 917

Options:
{} Chandrogupta |

&) Sumdragupta

T

3) Kumaragupta

FARTH
4) Skandaogupta

Correct Ansier, Chandragupta |
T
Candidate Answer. Sumdragupta

AR

QD : 1043 - Which one of the Following kings was defeated by Muhammad Ghori in the Bortle of Chandawiar?

TR & g5 A qpe T gR FefefEe & @ fea e o wafee e man ar
Optlons,

{) Prichwirai Chavhan

q

&) Jai Chand

o =

3) Bhima Il

i i

4) Kumarpala

AT

Correct Ansier. Jai Chand
W T

Candlidate Answer. Prithvira) Chauhan

RIS

Page 23

QID : 1064 - Who among the following was bestowed with the title of 'Saheb-e-Alam Bahadur' by Bahadur Shah during the Uprising of 18577

1857 & fagie & R @eTge e 3 R ‘wTee-g-aneH seiey’ o e T a1
Options.

1) Nana Sahib

T TeE

¢) Birlis Qaar

[ERE R E

3) Bakht Khon
S EH
4) Tantia Tope
arn g

Correct Answer: Balkhe Khon
& G-

Candidate Answer. Nang Sahib
T ITEE

HD : 1065 - Whe among the Following was the Fresident of the Central Legislative Assembly in August 19257

I 1925 ® Tl e @ srengr Pafafag & @ e 497
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Options:

{) CR. Das

=t am g

&) Motilal Nehru
A J5E

3) MR. Jayakar
A, 3. A&

&) Viethal Bhai Patel
e

Correct Answer: \Vitthal Bhai Patel
W

Candidate Answer. \otilal Nehru
AT J5w

QID : 1066 - VW hich of the Following is considered to be the largest volcano on Earth (in terms of its mass and foororint )?

Rrafafaa 3 € et &) e o) saremge! - A o & (S A sk ueRi @ g @)

Options:

i) QJos del Salado
S T TSt

&) Mount Vesuvious
e

3) Tamu Massif

g AW
g} Mauno Kea
s

Correct Answer, Tamu Massif
amy Afd

Candidate Answer. OJos del Solado
3 T TSt

QD : 1087 - Which of the Following layers of the atmesphere makes Radic Communication possible?

frafafEa & & argavsa & FF- wa W39 TR it 9yg SRt 87
Options:

{) Troposphere

efige

&) Thermosphere
FEHEA

3) lenosphere
HIHSA

4) Stratosphere
THATIHE

Correct Answer. lonosphere
HTGAHEA

Candidate Answier. Troposphere
efpige

QID : 1068 - What Is the name of mid-latitudle grass land in South America?

afgr srtfiean & Aeg-sngnsfto a9 & fem o @ T &7
Options:
1) Prairie

&) Pampas
TR

3) Veld
[\

4) Steppes
wrte

Correct Answer. Pampas
TR

Candidate Answer. Steppes

HD : 1069 - Maohatma Candhi Hydropower Frodect is situgted on which waterFall?

HETCHT T Sier- (e uRaa e Semord o e 87
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Cptlons.
1) Hundru

ge®

&) Pykara
TS

3) Jog
i

4) Shivsamudram
q

Correct Answer. Jog

Candidate Answer. Jog
Ein

QID 1070 - A which of the Following hills the Eastern Ghats Join the Western Ghats?

Frafefea # & g ugret we yet we, ufdedt o § et 82

Options:
i) Patani Hills
LEIE

&) Mahendragir! Hills

3) Nitgir! Hilts
st

4) Shevc:rrol Hills
S e

Correct Answver, Nilglrl Hills
TgTEt

Candidate Answer. Nilgir! Hills
el ogret

QID : 1071 - Which state Government has launched the 'RISHTA' proJjece?

form w5 TR A Raa (RISHTA) ufEier 6 o & &7
Options,

1} Himachal Pradesh
éﬂ'ﬁl’ﬁ e

¢} Madhya Pradesh
HET U&U
3) Arunachal Pradesh

HEUEA TE3T

4) Andhra Pradesh

ST TR

Correct Answer. Himachal Pradesh

EmTEeT W

Candidate Answer: Arunachal Pradesh
IEVE TET

Page 25

@QID : 1072 - At which of the Following places lngia’s First Tribal Entrepreneurship Summit wias held in November 20177

TR 207 # FfeiEd # 9 o6 WF I R4 @0 Uee e Safddr R SeeE it g 417

Options:
{) Bokaro
et

€} Purulia
3) Dantewada

4) Kurnool
Correct Answer: Dantewnada

Candidate Answer. Kurnool
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Options:
1) Poverty removal
[ECERIREE f

&) Financial Service

3) Rural Davelopment

Tt e

4) Housing for the poor
oA & forg

STETH
Correct Answer. Financial Service

Candidate Answer. Financial Service
faitg Sand

QID : 1074 - Who among the followiing has won a gold medal at the World Weightlifting Championship-coi7?

e J e By wrikies Sfmafig-cor & ol ueaw sfan
Options:

{) 5. Mirabal Chanu

T HRETE T

&) C. Swara Reddy

. @

3) Usha Raue

FHT AT

4) Surjeet Kaur

Correct Answer. 5. Mirabai Chanu
g HRET T
Candidate Answer. 5. Mirabal Chanu

THHRETE 97

QD : 1075 - Who among the Following has won a bronze medal at the olympics held in the year 19527

frafafEa & @ ad i5e § oo el § i ugs fae Sian?
Options,

1} Milkha Singh
féﬁﬂ'( R

¢) Norman
T

3) Harish Chawan
Eitar ea

4) K.D. Jadhav
F3T wnug

Correct Ansiier. K.0. Jaghav
FHE ST

Candidate Answer. K.D. Jadhov
2l ST

QID : 1076 - "The Unseen Indira Gandhi” (s wiritten by ______ ;

g e R et ______ gw fedt g 2
Options:

) Rana Ayub

T IGE

&) Or. K. P. Mathur

21 . oY "R

3) Bharae Kumar

Hid $HR

4) Tarun Khanna

GEaREE]]

Correct Answer: Or. K. P. Marhur

g1 & ot "nR

Candidate Answer. Or. K. P. Mathur
&1 & ot "R

QN0 2 1077 - Whe among the Following has received Dronacharya Award in August COIF7
Frefefia # @ @ erma €07 # gl qeesR e fmam 87
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Options:

1} Brii Bhushan Mohanty
fereT sgor Atgdt

&) Prashanti Singh
nyrifa fég

3) Jasvir Singh

TR fig

%) Sumarai Tete

TR

Correct Answer: BriJ Bhushan Mohanty
foret squoT Algdt

Candidate Answier. Jasvir Singh

Tk g

Page 27

QID : 1078 - The Geographical Indication Registry of India has presented geographical indication tag status to which of the Following?

Aty HWitferan Sue= Wowgr 3 Fafefaa & 4 e 3 Ainiees Sdha & nem e 82

Options:

{) Banglor Rosogollo

TR T

&) Mahabalipuram stane sculpture
e

3) Banaganapalle mango

i _H

4) All options %re correct.
|

Correct Answer, All options are correct.

goft e ggt &)

Candidate Answer. All options are correct.

goft e Ogt &)

QD : 1079 - Which of the Following countries have signed (BSA trust Fund agreement in Octaber cOF?

srpEr co | Frafaf@m d 4 o @ 32 3 s = 1Y aveit = swer R 87

Options;

{) India, Brazil, USA

HIRH, FRA, LAY

¢} India, Britain, South Africa
Wi, forea, &fgor anbrer

3) Indonesia, Britain, USA
ZeiAfim, fodm, guan

4) [ndia, Brazil, South Africa

Correct Answer. India, Brazil, South Africa

Candidate Answer. India, Brazil, South Africa
A,

QID : 1080 - Which is the nelghbouring country of India there rupee (s NOT Used as currency?

WA & fhe ggtelt v # wud &l 91 & =9 # wai Ag o e 87

Options:
1) Pakistan
i

&) Nepal
et

3) Sri Lanka
sfiierT

#) Bangladesh
FTATEST

Correct Ansier: Bangladesh

FIAR

Candidate Answer. Bongladesh
Elicel

CHD 1 1081 - All the arithmetic and logical operations (n a computer are done by ______ ?

Ueh HAeX H TH IO ol difches OR=Te ______ gWT feRam <irer g1
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Optlons.
1) ALU
QUe
e)eu
dig

3) Register
i T

%) No option Is correct.
)

Correct Ansiver: ALU

QUety,

Candidate Answer. ALU

QUery,

QID : 108¢ - What is the FUll form of 'HTML' in computer terminology?

e I § LA o srsifeg wu aar 87

Options.
{) Hypertest Makeup Language
EIRURSRE Herary aiveey

&) Hypertert Markup Language

BIRURETRE AT Feet

3) Hybridtext Makeup Language
FeharT T

4) Hybridtext Markup Language

FfasteR Arharg dew

Correct Ansier. Hy pertext Markup Language
EETRTRE AR e

Candlidate Answier, Hypertext Markup Language

BIEUREERT. TTehald Side

QD : 1083 - When g substance loses oxygen during a reaction, it is calleg ______

o ot s o ue § offeRfem g gl g v s __ Fg1 A B

Optlons,

{) corrosion

TR

é) reduction

=TT

3) oxidation

Ju=gd

4) Both corrosion and oxidation
TETROT T Ju=a &t
Correct Answer. reduction
AT

Candlidate Ansier. oxidation
JUEEH

QID : 1084 - Which of the Following is NOT a form of calcivm carbonate?

FrfefEa & @ @lT o1 hichas eEHe & Ue 9 961 o7

Options:

1) Lime water
4 &1 ur

¢} Lime stone
AT GeT

3) Chalk
afgan

4) Marble
TR

Correct Answer: Lime water

T & ur

Candidate Answer. Lime water

T & ur

CHD 1 1085 - Which element is mast electronegative amang Arsenic, Nitrogen and Phosghorus?

TR, ATgia TUT BIEhiRE o @ @i A1 da gaw e R 87
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Options:
{) Nitrogen

&) Phosphorus
THIEhIE
3) Arsenic

4) All these elements have epual electronegativicy.
g o+fit 7t 1 o faregen e gD 2

Correct Answer: Nitrogen

Candidate Answer. Arsenic

QID : 1086 - WWhich of the Following statement(s) is/are CORRECT for critical angle?

I. Refractive angle is 90°,
II. Light ray goes fFrom rarer to denser medium.
Hil. Light ray goes From denser to rarer medivm.

frfaf@a & 8 &7 /8 s Hifvs o & g aft 287

|, aTaEe @tor 90° gtar 21
i1, ey e ket wremA & e Are | o 2
i1, wepner femor gem oreqm & fowe ey & S 21

Cptlons,
1) Only I and Il
haet | a=m i
&) Only | and Il
| =T i
3) Only |
e |
4} No statement is correct.

&5 A Tl A6l gl

Correct Answer. Only | and Il
et | am il

Candidate Ansier. Only |
e |

Page 29

QHD : 1087 - To hear a distinct echo, the time interval between the original sound and reflected sound must be atleast _____ _

wE ufawaf g & o 7o @ aur awalda @ & 7w gwa & slaee sH e 3G AT AMRYI

Options:
1} O secands
0] G&Us

2) 02 seconds
0¢ dFus

3) 03 seconds
[

4) 04 seconds

04 GFvs

Correct Answer; Ol seconds
fai:coerc

Candidate Answer: 0.2 seconds

CF Tevg

QHD : 1088 - Which armong the Follaming is NOT a conductar of electricity?

frafafEa & & FF @1 ue fEe@ o1 9w 998 87
Cptions:

i) Mercury

o=

¢) Manganese

Farefter

3) fren

ater

4) Eponite

Correct Ansier. Ebonite

Candldate Answer, Mercury
ORI
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Q0 : 1089 - Which of the Following statement is INCORRECT?

Pl & & @i 91 = |8 =48 87

Options:

1) An electric moror converts electric energy into mechanical energy.

ue g Atex feg s & aiEE oot # ggad 21

&) An electric generatar works on the principle of electromagnetic induction

oo flea sifa TeR dash thot & Rigia w &1 &=ar g1

3) The magnetic field at the center of o long circular coll carrying current will be parallel straight lines.
fereit et gemeRR, RRIT URTETEY HUSelt & S W gy & gAieR el & Yard g §)
#) A wire with green insulatlon is usually the live wire.

& R Tl ar ur: e 9r g 81

Correct Answer, A wire with green insulation s usually the lUive wire.

& FERERE Tl ar um: e 9r g 31

Candidate Answer: A wire with green insulation (s usually the live wire,

& Regeriva et ar um: ReAg ar g 2

QD : 1090 - Under which condition real gas can work gs an ideal gas?

U aidfaes 19 R oREA § o snesf i & w0 F R & Tt @7

Cptions:

) High pressure and low temperature
BECHERSR

&) Lo pressure and high temperature

fr=TEmE qu I=a

3) High pressure and high temperature
Feegld 9l I=ddig
4) Low pressure and low temperature

e g Fea

Correct Ansier. Low pressure and high temperature
fr=Tgm aur g=aa™

Candldate Answer, High pressure and high temperature
J=eTd YT =T

QID : 1091 - Scurvy Is caused by deficiency of which vitamin?

rd! A HH § Rafde & @ g 7

Options:
) Vitamin A
faerfim A
¢} Vicamin 8
faaffm 8
3) Viearmin C
faaffm ¢

&) Vieamin D
faeifem D

Correct Answer. Vitamin C

fefd= ¢

Candidate Answver: Vitamin C
famfEa ¢

QID : 109¢ - Normal range of breathing rate per minute In an average adult person at rest (s ______ .

ek 3iEa ooem aafh &t [am saen A ot e g s o oo BT 21

Options.
1e-ie

e)ie—18
3)er-ey

§) 30 - 30
Correct Ansier. Ic — 18
Candidate Ansier. 2l — o4

QID : 1093 - Which of the Following element is Found in haemoglobin?

frafefed 4 < &9 a1 g duraifas | o o &2
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Options:
1) Calcium

e} fron
aiter

3) Soaium
Hitgmm

4) Potassium
g

Correct Answer: lron

Candidate Answer: Iron

Options:

1} inside female body
AT & R & iR

&) outside femoale body
HTET & IR | TTEY

3) Inside male body

T & R F fiew

4) outside male body
T & R F T
Correct Ansier; inside female body
AT & R & iR

Candidate Answier: Inside female body
1T & R & iR

QD : 1095 - The eye lens Forms which type of image on reting?

AT &g T R Ry ueER &1 uiafa s=mn 87

Options:
{) Erect and real
GRA

&) lnverted and real
el adT

3) Erect and virtual
e T amWTRd

&) [nverted and virtual
T auT AT

Correct Answer. [nverted and real
Tl 9T ardiaE

Candidate Ansiver. lnverted and real
JeaT aur

QID : 1096 - Influenza disease is caused by ihich of the following?

Eueqdan I FAfefea # € frass @ ghar &7
Options:
1) Bacteria

¢} Virus

3) Fungt
hddh

4) Prorozoan
Hizreran

Correct Answer: Virus

Candidate Answer. Prorozoan

Hietara

QU0 2 1097 - Which of the following is respoensible For turning Tad mahal yellow?

FrafefEa & © @9 ars wga & did g @1 &R0 27
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Options:

1) Carbon diokide
FE EEATFES
&) Nitrogen

3) Chlorine
FalfT

%) Sulphur diokide
TR Slx

Correct Answer. Sulphur dioxide
Tt S5 egs

Candidate Answer. Sulphur dioxide
Tty SIg3Iegs

QID : 1098 - Which among the following helps in monitoring air pollution?

frafeifEa ® @ @ arg uguu & S e ® Teddl adr 87
Options.
{) Lichen

&) Bacteria

3) Fungt
hdah
4) Algae
e

Correct Answer: Lichen
Candidate Answer. [ NOT ANSWERED |

QID : 1099 - Which of the following (s NOT a particulate pollutant?

Frefefea & € @i 91 g% F01 neya Al 87

Optlons.
{) Dust

e
é) Ozone
i

3) So0t

CaEE]

4) smoke

g3t

Correct Answer. Ozone

Candidate Answer. Ozone
icic

QU0 : MO0 - Crassland ecosystemn has which tyoe of biomass pyramid?

et oS o @ e weR @ Sewr (g ) Tufts g &7

Options:
1) Ugrighe
FR H 3R

&) Inverted

3) Both upright and inverted

FWR F 3R qur AT i ok i

g_é'\t‘o option is correct.

Torered Tt 781 81

Correct Answer. Upright
o

IR
Candidate Answier: [ NOT ANSWERED |

www.ErForum.Net

Page 32

www.ErForum.Net



www.ErForum.Net www.ErForum.Net

QID : Hoi -

When the inversion is obtained by fixing the turning pair in the single slider crank chain
then the inversion formed is

o UF TS e de F et o ® wunh S § SoeAr una gare, & @
AT gem 1

{Link 1)

(Link2) *
|

(Link 3)

Options:
1) Quick return mechanism
@fa amet @
&) Oscillating cylinder engine
ESE
3) Rotary internal combustion engine
iR ggd F5H
#) Pendulum pump
CACE A )

Correct Answer. Oscillating cylinder engine
B

Candidate Answer: Quick return mechanism

@R et @

QD : Hoe -
What are the numbers of binary and temary links in the following Kinematic chain?

farafaf@a ofas = & ¥ @l 3R el forat &y e & 8)

(s)

Options:
{) 3 binary and 4 ternary

3 A ol 4 o

&) 3 binary and 3 ternary
3 gt SR 3
3) 5 binary and | ternary
5 FAEE R/ T
4) 4 binary and C ternary
4 FIEAET 3R @ et

Correct Ansier. 5 binary and | ternary
5 AETE SR/ T

Candidate Answer. 5 binary and | ternary

5 FIERY SR | T

QD O3 -
How many degrees of freedom does the below mechanism have?

&Y B v &9 & fha fmdsg wie 87

Cptions:
o

el
3e

4)3
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Correct Ansier. |
Candldate Ansiver.

QID : 108 - Which of the following option is CORRECT for tino degrees of Freedom of the system?

e & g} wrdsa S & fow B F | w9 9 faweg ot &7
Options:
1) Vibrating absorber
ERIECH
&) Vibrating engine
FHAHRT I
3) Pure rolling of a cylinder
I I 8L ded
4) A rigid body in space
SaRer H U HOR %]
Correct Answer, Pure rolling of a cylinder
I &I L ded

Candidate Answer. VVibrating absorber
HFYEH

QD : NOS5 - The torpue crank angle diagram is used For the determination of ________ by the Flymheel.

TEATU e SHIUT SMRG TS qH GRT _____ & fFrafeor & forg Iwi fomm s 21

Optlons:
{) amount of energy releosed

T 1 g2 FoI A

&) amount of energy obsorbed
aeifia gt $r AT

3) amount of toroue produced
&t AT

4) amount of angle turned for the torgue produced

Jeatied sl & ferg & @i &

Correct Ansier. amount of energy absorbed
srFenfia gt & AT

Candldate Answer. amount of toroue produced
& A

QID : NO6 - Which of the following curve (s obtained traced by a point on the clrcumference of a circle which rolls without slipping on a fised stralght Uine.

1 7 & &9 o1 @ Us I & aRiY IR U foig & Fam g oar s S € o e wandt el e o e & e O @ @7
Options:

1) Pitch circle

o g

&) Addendum circle

oRfE T

3) Cycloidal
Hehelld
4) lrvolute

Correct Answer: Cycloidal

EETEIGE
Caqdfdate Answer. (nvolute
FaTee
Qo : NO7 -
The elliptical trammel is
MMymaw Rfesatas _ pardl
| _41./ (Link 3)
Link }( *
(Link 2) \‘/ﬁ :
/|
.. ‘

1 “““. /—(l.ll‘lk"”

(Link 1)
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Options:

1) obtained by Fixing the link 4

foia 4 =t &ia e &

&) obtained by Fixing the link f or link 3

foie 1 o1 foler 3 &t & & S W

3) obtained by fiking the slotted plate ar Unk 4
wieR e a1 o 4 &t St & & unag

4) None of these

Correct Answer. cbtained by Fixing the slotted plate or link 4

e a1 foies 4 @t &t @ & una

Candidate Answer. obtained by fiking the link &
foiw 4 =t &1 & & wra

Page 35

QID : HO8 - Consider the Grubler's epuation for the planar mechanism given below, £=3(n-1 )-cJ What does the variable 'n’ represent in the above eguation?

= g U @R @7 & forg geer & gdiewe R @, f = 3 (0-) -2/ Iuth SHiaor ® =9 o R e 87

Options.

%_:;umber of links
&I T

¢} number of lower pairs
e
3) number of mobile Unks

Harge feies <6t g
4) length of the longest links
EoRCCIE]

Correct Answer. number of Unks
& g

Candidate Answier: [ NOT ANSWERED |

QID : NOF - Which of the Following statement (s CORRECT about the wet clutch?

= ® & & o @ e o & an J agl &7

Options:

{) Toroue transmitting copacity of wet clurch is higher than the dry clutch.
Tftet AT ehi SOt HEOT ST %6 AT § SAfEE Bl gl

&) Heat dissipation is easier on the wet clutch as compared to the dry clutch.

9% TTH i ge-T # et W9 # HEr Uy A gt 8l

3) The engagement of the dry clutch is smoother In the et clutch.

9% TTH H Heltd el T § & ghar gl

4} All options are correct

Correct Answer: Heat dissipation is easier on the wet clutch as compared to the dry clutch.
Ik TTH i gerr # et I 7 HEAT U A gt g

Candidate Answer. All options are correct

QHD 2 MO - Which of the Following is TRUE about the torpue transmitting cogacity of the conical clutch?

Frafef@a & & @i o simarer o & awrgef e emar & ar § g 82
Options:
H

Inversely proportional to the sin

sin a % TgeHA JAITAH &
¢)

Directly proportional to the sin a

sin @ & T 3TfaE &
3)

Does not depend upon semi cone angle «

HI R T o W R Fard
4) None of these

T & &S T

Correct Answer.
Inversely proportional to the sina

sin a & S HA &
Candldate Answier,
Inversely proportional to the sin &

sina & CUeHHA Hia® &
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Page 36

QD : 1 - Which of the following roothed wheels do not come under the classification according to the position of teeth on the gear surfaces?

Frefefea sider ufeal 7 & o9 Tox ade! . gial & & & Fgar affewr # 751 smar 87

Options:
1) Straight
tem

e ) Inclined

1 gl

3) Curved

gehlehlR

#) Non-intersecting and non parallel
R THMTR

Correct Answer. Non-intersecting and non parallel

R arafdere ofk 7 gumAieR

Candidate Answer: Non-intersecting and non parallel
IR srafdareies 3R A TR

QD : e - What is the maximum possible number of instantanecus for an eight link mechanism?

TS e oF & oIy archTiorn g ohl Afehay Tera T & 87
Options:

115

é)ea

3) 30

4)8
Correct Ansier. 8
Candidate Answer: c8

QID : M3 - Which of the Following correctly depicts the efficiency of the riveted Joint?

frafafEa & @ aF e siis 6 gam =t a8 &1 9 g &7
Options.
f
Strength of riveted joints
strength of unriveted solid plate

ool SA1St T arhd | HRTACS SR Toie &l drhe
e)
strength of unriveted joints
strength of unriveted solid plate

FRfaes sherdrarea / siRfaes S e Sramea
3)

Strength of riveted joints
Number of joints

Tahoien TSt &Y crehe /ST 61 e
4) None of these

& & @S T8
Correct Answer.
Strength of riveted joints
strength of unriveted solid plate

fhoies Sel hr diehd / 3iRTaEs 3 Tole & diehd
Candidate Answer:
Strength of riveted joinis
strength of unriveted solid plate

et SIS ol dlshd / ARTacs 9 ool & died

QID : 1% - The radius that connects the root circle to the profile of the tooth is Known as ________

el Wil Root g @t &id & profile § WieaT g, 99 ________ & ®=9 & T ST 2
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Cptlons.
1) arc of approach
A @t 91y

&) fillet roqivs
gfgan Bramn

3) profile

%) pitch rogius
fir fren
Correct Answer: fillet radius

Candidate Answer. Fillet radivs
e

TN e wist # Fie & oy aweg wfteor ________ FARUREC 1 1
Options.
f)

(m 2
'Ds—!‘zd |
€)

P =2| = d%
132 '
3)
P.=Zd%
=2
4)
P, =—d’r
© 64
Correct Ansier.
P, =Zd%
S -

Candidate Answer: [ NOT ANSWERED |

QD : b - Choose the CORRECT statement about the kinetic Frictlon and the static Friction.

iRl eefor of e wvfor & < ad Hu

Options:

I} Kinetic friction is lesser than the static friction.

Tfereht aeioT fRT TO0T & @H BT 81

&) Kinetic friction is greater than static friction.
ey wdifaem T 2l

3) Kinetic friction is epual to static friction.

wfereht weioT fEIT TeoT & aeER gt 2

4) Kinetic frictlon is epual to contact force.

Tiicehl SYUT Hudy def o avE) sian &l

Correct Answer. Kinetic friction is lesser than the static Friction,

et =T fRT Tur & @A gt &1

Candidate Ansier. Kinetic friction is lesser than the stadic Friction.

TTfereht =T feR Tur & @A ghar &1

QID : 17 - Which of the Folloning option is CORRECT about the methods Used to reduce the friction?

Frefeiea & & @i o1 feen 9Dl Sl &8 &l 5 adH! & ax |98l 87

Options:

1) Making a rough surface.

WEY Tag hl

&) Use of lubricants.

TIET H IT

3) Use of sand particles
=

4) None of these

T4 & FE T

Correct Answer, Use of {ubricants.

Tge &l IuEnT

Candidate Answer. Use of Whricants.

Hgeh &1 JugiT
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QD ms -
Consider the torsion equation given below,

A few are #s weieror ¥ IR &Y,

What the term % represents in the above equation?
F fe e g ¥ o % Fu Zeiare?

Cptions.

{) Section modulus

gReg ATdic

&) Polar modulus

Y AiE

3) Shear mogulus

SURETOT HIUTR

4} None of these

T T i A

Correct Answier. Polor modulus
g Amis

Candidate Answer. Polar modulus
R AT

Qo me -
Calculate the value of thrust (in kN) at the point A for the figure shown below.

e fme ane R & Tae fag A oF ue (kN #) & Hea &1 v &1

B C
60°
1kN
A
TITTITITTTT

Cptions:

1) 0866

é)os

3)e

4) 3

Correct Ansier. 0864
Candidate Answer. [ NOT ANSWERED |

Page 38

QD : 20 - The magnitude of the normal stresses in the x and y direction is 100 Mpa and €0 MPa respectively. Both the stresses are tensile in nature.

Determine the radius of the Mohr's circle {mm).

# 3R y B # wWg a9 & ORETT SA: 100 Mpa 3R 0 MPa 1 &1 a-ra s epta # 9 81 Hie & ga (el & Ber Fufia o)

Options.
i) eo

e) 4o
3) 60

4) 80
Correct Ansier, 40
Candidate Answer. [ NOT ANSWERED |
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QD : et -
A steel rod whose diameter is 2 cm and is 2 m long experiences change in temperature
due to heating The coefficient of thermal expansion is & =12x107 / °C and the rod has

been restricted in its original position. The young's modulus is 200 GPa and thermal
stress developed is 288 MPa What is the value change in the temperature (°C)?

T T U3 Forant o 2 HEwies 3R oFars 2 Hie § 39 e 30°C ¥ 150 °C AT
Fm AT 1 3 SR AONH B o = 1210 / °C 3R s @ 379+ Ao a4 widefia

‘A g A FEANE 200 GPa iR fawiag s uiaas 288 MPa &1
A F A F a1 gRadT &2

Options:
1) 50

é) oo
3) 1o

&) {50
Correct Answer. 120
Candidate Answer: [ NOT ANSWERED |

QID : H2e - The variation of stress In the simple bending of beams is

#i9 & [ruRor P F FAE

Options.
{) parabolic
Rt

é) elliptical
HeTh

3) hyperbolical
HAfauraeits

&) linear
Correct Answer. linear
Ham

Candidate Ansier: linear
iaw

QD el -
The formula for the Euler’s buckling load is given as .‘LE_Ei This is TRUE for which of
the following columns.

TR & afegm as & e g 228 & w0 R e b o feetrea A 4
e aom & fore T8 &

Options:

{) Column wilth one end fixed and other end free
T 3 & WY FHied Rl ofR g ofF wed

&) Column wiith one end Fixed and other end hinged,
T 34 & 1Y Fem wWrl ok g o fiFle

3) Column with both ends fiked.

T 37 & Ty ieH Tt

&) Column with both ends hinged.

T 37 & Ty @ieH

Corract Ansiner: Column with both ends Fined.
THI 3 & ATy e Wt

Candfdate Answer. Column with both ends hinged.
T 3 & Ty Fey B
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QIO : Ny -

What is the location of the maximum bending moment from the end B in the beam
shown below?

A @ av dW A7 A B Afiean dee MU & e T 87

|
L, :

Options:
1)ie

e} /3
3) L

4)1/v3
Correct Answer. (/3
Candidate Answer: /3

QID : 125 - The elongation (mm) in a steel bar having a spuare Cross section of &5 mim is subjected to an axial compressive load of 250 kN. If the length of
the bor s % m and modulus of elasticity is E=250 CPa. Whot Is the dimension of the spuare cross sectian?

Ueh SETT R H a1 Siaeor g SR S5 a7 SIURY WhIE @I STATH 40 mm K 40 mm & 3R a8 S50 kN & ue siaftg wdied WR & ardH 82 R ar & omg 4m € o
TR AIYieh £=C50 GPa &)

Options:
{) &5 mm & 25 mm

&) 40 mm Kk 40 mum
3) 50 mm x 50 mm

&) 60 mm x 60 mm
Correct Answer; 40 mm ~ 40 mm
Candlidate Answer. [ NOT ANSWERED |

QID : NE6 - Stress is ________ strain, under the loading ug to the elastic Umit of the material
geref i wET ST a9 @ifen & dgd, viaed gt _______ s 8l

Options:

1) epual to

& U

¢} inversely proportional to
&

3) girectly progportional to
& @

4) None of these

T4 & TS T

Correct Answer: directly proportional to

& e

Candidate Answer: directly proportional o

& 1 srae

QID : NET - Determine the axial strain in the cylindricol wall at the mid depth, when the Young's medulus and the Poisson's ratio of the container material is
200 GPa and 06 respectively. The aklal and the circumferential stress are epual and its value s 20 MPa.

e MERTE § deEehR SR # iz Al & MuRo ¥, 519 g Ais 9k @l seuT sFEen c00 GPa 3R 06 81 orefig o ufvefi Rl sReR § ofk 39 AW 0 MPa
2

Cptions:
1) ewio®

e} oxio?
3) 7mi0”

4) 410>
Correct Answer, 4107
Candidate Ansiver: [ NOT ANSWERED |
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QHD : 28 - Choose the CORRECT diagram For the shear stress distribution in the hollow shaft along the radius.

e & @1y @iae v | s fied famRen & forg 98 e g1

COptions:
h

/3
i/

s

/.

Correct Ansiner.

Candldate Ansiver.
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QIO : HE9 -

A cross-sectional bar of area 700 mm? is subjected to an axial load as shown in the
figure below. What is the value of stress (MPa) in the section PQ7

700 @ AT a7 @ v AR O A o e & s A R v e
R F anfie 1 I PQA WfEw (MPa) T 3T &1 87

63 kN 35kN  49kN 21 kN
- — — ——
P Q R s
Options:
f) 30
é) 40
3) 50
4) 90

Correct Answer. 30
Candidate Answer: [ NOT ANSWERED |

QD130 -
Determine the value of shear force at point A in the figure shown below.

e Gwrd i 3pfd # armws @w AW g AW auia 0

[
LU T

COptlons.
1) wil/6

é)wl/e
3) it/ 3

4) il
Correct Answer; /3
Candlidate Ansiver. wl/3

Page 42

QID : W31 - Which of the Following properties are NOT sufficient to determine the properties of a vapour? [ Temperature €. Pressure 3. Dryness fraction 4,

Specific volume

= 3 & @ @ 7701 99 & 7on A Faife a=e & g gaia 96 87 (. a9uE o 399 3, SeAY SR 4. R smaes

COptlons:
f)land e
(3R &
é)cand 3
& R 3

3) 3and 4
3a 4

&) fand 4
| 3 4

Correct Answer. [ and &
| 3R e

Candlidate Answer. | and &
3R &
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QD : 3¢ -

Which equation clearly defines the entropy change during the constant pressure process
for a system with m kg of gas at pressure P, , volume V, , temperature T, and entropy
s when heated to state points of pressure £, , volume V; | temperature T, and entropy
E-3 i

Wiel T THIBIVT &a1d P, HTdae V,, arg#i= 1, 3 Ggridr s & fagat & gamg B,
HUGH V., a9HE T, 3R @i s, aF 3B & W m e 39 a9 goneh &
e e gane 9T & e eerdl aRade & 9T FEaT 82

Cptlons,
f
T

1

me In

e)
rrcplnIZ-
T

3)

mRIn =

)

mc

;'I,n_ ,'/\.m Tz
\n=1)"T,

Correct Ansier.

rrcoln%

Candlidate Answer.

: 7
mc,In_2
T

QID : N33 - If the entropy of the universe decreases. What this depicts about the nature of the Orocess?

I wigTis i Ggrdt oA Bf Sl o 59 WiehdT @1 Weptc o @ A 2 &uifar T 87

Options:

{) ldeal process

g W

¢} Reversible process
HeRH

3) Irreversible process

SIEhAvig TeRA

4) Impossible process

S WehH

Correct Ansier, Impossible process
HEYT W

Candidate Answer. Impossible process
HEHT UehH

QID: 134 -

For the given process, 1-2-3-4-1 consisting of two isentropic and two isochoric process
on aP-V scale

& T ofra F v, 1-2-3-41 % PV Fhe W Q) WEE iR 2 smae
afteam wfae &1

4

'
Which is the CORRECT representation of the above process on a T-S scale?

T-S T 91 I 9iEa & w9 v s W i
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Options:
[
T 4
1
2
S
c)
L
2
3
S
3)
T 2
3
1
4
S
4)
T
1 > 2
A Y
4 < 3
S

www.ErForum.Net
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Correct Ansiner.

T

—

Candidate Ansiver.

T

—

8]

QID: 1135 -

w

www.ErForum.Net

Which of the following equation is TRUE for entropy generation (As) for an ireversible

and reversible process?

S HgEAi R seEAvh uEe & fe vegrdr didr (as) & e B S ¥ wta

a1 st 8 87

Options:
b

(As

.J'rnev!rsb}e = (AS.]mvmb’e

e)

l. As ] irreversible e [ As-lreversbie

3)
(as) =(As)

\ Jirreversible revarsible

4)

(As) (As

ireversibls =
Correct Answver.
(As),

lirreversible

> ['_ ;\S_‘]
Candidate Answer,

(As)

Jirreversible

revergibie

> (As)

Lreversible

)rmm'bb =

0
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Options:
1) at constant volume
&R amga #

&) at constant pressure
R zama &
3) First at constant volume, then at Constant pressure

R e & vee, i R <ae ™
&) Firse at constant pressure, then at constant volume
2919 W Ugd, fiRR B8R omres )

Correct Ansier. at constant oressure
R zama &

Candidcate IAnswer. at constant pressure
fER gama #

QID : W37 - Which of the Following medium is compressed in a supercharger?

1 7 & @i o1 Arem guzEe § Said g 82
Options.

) Alr

ag

é) Casoline
3) Fuel oll
Er

4) All options are correct

Correct Ansier, Air
ag
Candidate Answer. Air

ag

QD : 138 - Which epuation is the CORRECT representation for the steady Flow energy epuacion for o nozzle?

FI 1 gHtEor U Ao & o [RR vae oo grfieRor w1 9t nfafafie o @2

Options;

]

B e 2
2 NG

2}

L
2 =2

3)

AL W |
2 2

4)

h-G G
2 2

Correct Answer.

S M
2 G-

Candidate Answier.

e g B
2 TR

Page 46

CHD 2 1139 - If the ratio of the lower to the higher absolute temperature s 7/8, then what will be the COP of the Carnot refrigerator?

oft g afte 3= PRGer @ =7 wgaTd 7/8 8, @ sle Hheiex &1 COP &ar ghm?

Options.
e

)7
38

&) [nsufficient daca

Correct Ansier. 7
Candidate Answer. [ NOT ANSWERED |
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QID : 140 - What is the effect of Increasing pressure on the latent heat of steam?

I i HeHTh HOHT UX @ge gaTd & &1 Wd TedT &7

Options:

{) Decreases

HeTdT &

¢} Increases

TGl &

3) Remains same
TR

#) Behaves unpredictably
Y & e

Correct Answer, Decreases
AT &

Candidate Answer: Decregses
Herar &

QD 14l -

There is an entropy change of 0.08 kJ/k for flowing water through a turbine in which due
to friction there is a temperature rise from T°C to 40%C_ If there is no heat transfer
taking place dunng the process. Then what will be the value of T 7

ZEEA ¥ AT § O g5 W 0.08 kJk UF Gy uftEde g & e ador &
FROT AT9A # Gk T°C ¥ 40°C gt &1 g wiham & gRie 1% Foar geaiaeor
At o @ AT @ AW F gee

Options.
o

)
3)cs

&) 301
Correct Answier. 08
Candidate Answer. [ NOT ANSWERED |

Page 47

QHD : 14C - The work extracted From the system is less than the heat provided to the system. Which of the Following is TRUE For the energy of the system?

e & fomr mar et e &t St 12 e | oft e 81 Pefatas J d s Pem & el & oo udt &2

Options:
I} Increase in internal energy

&) Decrease In internal energy

AR It &

3) Internal energy remains constant
e S g
%) This process s not possible
T uiehar g 81 &
Correct Answer. Increase in [nternal energy

Candidate Answer. Increase in Internal energy

QID : 143 - Which of the Following epuation [s/are CORRECT For o complete closed cyclic process?

o & 9 T wefieor gs got | SR D & g ad 808
Cptlons:

f

W=Q

)

Q=W

3)

Q=W

4) None of these

Correct Ansiner.

W=Q

Candidate Ansiver

Ww=aq
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QID : 4% - The Firse Carnot engine work under temperature betwesn Tl and T and the second Carnot engine work under 72 and T3 Which of the Following is
TRUE Far the gbove mentioned Carnct engines For same work outgut?

TEA FRAR ST N R T F fa A R @ are R e R B ded s Fal ol i am e F R sfwm sre SR s e P dd s waa &7

Options:
)
T._ = Tr _T’i
z 2
é)
L-T,=T,-T,
3)
T, =T, xT,
4) )
Tz =2(T1 _TS)
Correct Ansier.
L -T,=T,-T,

Candidate Ansier:
T, = Y T, xT,

QID : 145 - Increasing the compression ratio beyond a certain limit causes ________ i

o AT S R adea S egum A g T FROT 1
Options:

1} delay in fuel burning

f)ﬂ? o F &

€} engine knocking

o AifehTT

3) excessive heat in the engine
9 H i HEAT

&) high fuel consumption

I=7 599 @Ud

Correct Answer: engine knocking
1 AT

Candidate Answier: engine Knocking
g it

QID : 146 - For constant ________ process, the change In internal energy In a reversible process is egual to heat transferred.

R ____ __ umhA o oY, ues IcnAviig uehd ® rialis &l # uRads sEliang ST & awE 2l

Options:
1) enthalpy

&) pressure

e

3) temperarure
GIEEIE]

4) volume
LG

Correct Answer, volume
S

Candidate Answer. volume
T

QHD : 147 - Which of the Following is TRUE For real thermodynamic cycle?
o/ 8 3 @i 91 /el I 9 o g wE &7
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&)

£9Q _
3

Correct Ansiner.

( ﬁao

Candlidate Ansiver.

aQ
§2-

Options:

I} a point

g g

é) aline

s ok

3) a triangle
o fAator

4) not present

Correct Answer: a triangle
T et

Candidate Answer. not present

e et

CHO : 49 - A point at which the highest temperature of liguid and vapour phase can coexist is callea?

www.ErForum.Net

ue foig 99 I ove SR ared =wu1 & weE AU d10HH Seddl 8 Sehd ¢ o 9T ded 87

Options:
1) critical point
GAIRED

&) triple point
3 ) saturation goint

4) None of these

A ¥ g g

Correct Ansier; critical point
wHifos

Candidate Answer triple polnt

oo dige
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QIO : 150 -

Which is the CORRECT expression for heat transferred from the given P-V diagram, if
the area under i-a-b-f is equal to area under i-f7

Fia d P-v 3@ # ruEiaia Few § A w6 yiveafds 8, 39 i-a-b -f F IET
BT i1 % 3T T F TR

Rev.
adiabatics

+ 0

Rev.
isotherm

—\]

Cptlons.
f)

Q!‘ > ab
e)
Q.f = Qab
3)
Q= an

4) None of these

FH & & Ad
Correct Answer.
Qf = Qaﬂ

Candidate Answer. [ NOT ANSWERED |

Options.
{) high carbon

3=
o

3) medium carbon
HeH FHET

4) dead mild
3T TEES

Correct Answer, high carbon
=

Candidate Answer. medium carbon
HEOH

QHD : N5 - Heating elements are generally mode of

T e AT AR W 5 g
Options:

1) invar

4R

&) perminvar

3) white meral

Hthe, uTg

%) nichrome
Correct Ansiier. nichrome

Candlidate Answer. nichrome
Er=ae

QID : 1153 - Large size bolt heads are made by

IS FEHR % AT B8 S Y T &
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Options:
1) hammering

&) casting

3) simaging
=R

&) upset-Farging
TRRTH-TRIfSHT

Correct Answer. Ugset-Forging

TRAT-TRHT
Candidgte Answer. casting

QID : 5% - Oxygen cylinders are
HAleeia fAiet gid &
Options:
{) cast iron cylinders
e digl e
&) steel cylinders, welded structure
3) gie cast
T T
mmess steel cylinders
i =

Correct Ansiver. seamless steel cylinders

Candidate Answer. seamless steel cylinders

e w2 fAdsR

QD : 1155 - An accurate lathe in India is identified as

A B U& Ted oY 1 39 F9 4 ugaH & T 8

Options:

1) Mark |

T

&) Accuraee |
Tl |

3) Grade |
e/

4) Precision |
el

Correct Ansier. Grade |
bl

Candidate Answer. [ NOT ANSWERED |

QID : 156 - For the production of puality pare the following casting method id normally employed

AT aTet | & SaeA & oy Feafef@e s B sndd e R v A +ft et &
Options;

1) centrifugal casting
ney

&) continuous casting
3) green sand casting
T

4) pressure die casting
ECIEE

Correct Ansiver, pressure die casting
&

Candldate Answer, pressure dle casting
Zam 318

QD : N57 - The average Frepuency of sparks in electro discharge machining is

foreg fdiem mefifam & ok 6 o amafy & &

www.ErForum.Net

Page 51

www.ErForum.Net



www.ErForum.Net www.ErForum.Net

Cptlons.
1) 500 sparks/s
500 e /ufd Behe

&) 1000 sparks/s
1000 e /8ds

3) 5000 sparks/s
3000 Ta /Hdhe

#) 10000 sparks/s
10000 T /¥Hg

Correct Answer. [0000 sparks/s
10000 T /e

Candidate Answer. (0000 sparks/s
10000 TR /Gdhe

QID : 158 - The Vernier's Calliper's advantage over the micrometer is that

YEAATYT TR E-10¢ & Sicid 1 o9 IE ¢ [

Options.
1) it can be used to make both inside and outside measurements over o range of sizes

= oTRR & Ts foel & oie &R aTge O g &t 39 & g SR foRor o O

&) Is more gccurate

3) Is easler and puick to use
IO FA F o ofr @fe &

4) None of these

Correct Answer. it can be used to make both Inside and outside measurements over a range of sizes

TR AR F FE Rl & o ot a1ge o gl @ s & R 3w TR o g @

Candidate Answier: it can be Used to make both Inside and outside measurements over d range of sizes

T8 aFR & T Rl & o o a1ge 9 gt w s & g 3w TR o g @

QD : 159 - During soldering

diesfar & & M

Optlons,

{) arc is produced betneen solder iron and metal to be soldered
Hive? ditg ofR urg & o9 ek F & fog fmr amen §

€ solder iron bit is red hot

Hteex el fae o=

3) Joint area must be clean and close fitting
HYgh &8 A% 3R aeta T g =gy
4) metal is heated From top as well as boctom

HTg ST T A § A o e &

Correct Answer. Joint area must be clean and close Fitting

Candidate Ansier. Joint area must be clean and close fitting

T &1 T SR e s g ey

QID : 150 - Investment casting Is also knowin as

TaAEeHE I &l 59 T 7 |t 51 oA @

Options:
1) hot investment casting

™ Pdw @i

e 2 lost wiax casting
Al da9

3) lost pattern casting

4) All of these
g oeft

Correct Answer: All of these

g =

Candidate Answer. All of these
T oot

CHD 2 Ml - Which one of the properties given belowr is an intensive progerty of the system?

At ferg g qpoit & & i @ v Y TEa o &2
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Options:
1) Volume
HITH

&) Temperature
GIEEIES

3) Kinetlc energy
FIgAR Fatl

%) Potential energy
)

Correct Answer. Temperature
GleCict

Candidate Answer. Temperature
Glenict

QID : W6C - Gases have

et & gran &

Options:

] tino specific heats

fafare Fe

&) three specific heats
fafare S

3) one specific heat

o fafare sen

4) None of these

Correct Answer, tino specific heats
%1 fafire Fem

Candidate Answer. None of these

4 & FE T

QD : 143 -

Change in entropy during constant pressure process is
given by the relation

TIAR &a1d Wisbdl & GRH T2t 7 gRad= d6y grI
fean S §

(a) mC, log, ? (b) mC, log, =

i R
c) mC, log, = d) m—log, =
(c) gy (d) g

Options.

i) (a) Only
(a)

&) () Only

e (b)

3) (c ) Only

e (¢)

&) (d) Only

&ad (d)

Correct Answer; (b) Only
(b)

Candlidate Answer. (b)) Only

e (b)

QD : N&4 - In orast apparatus KOz is used to absorb

HEE IUERUT # KOz T IU4lT 36 sravifid @ & fog fhan o &

Options.
1) co,

é)co
3) 0

4) Nz
Correct Ansier: COz
Candidate Answer: [ NOT ANSWERED |
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QID : 1155 - The Rankine cycle will approach to carnot cycle is

T = ot e =eh | Tudh & a8

Cptions:

1) the number of regenerators are increased

foted di s A g g &

&) the number of reheaters are decreased
&1 g & i od &

3) the number of reheaters are Increased

e & e T IR &

4) None of these

T & FE TE

Correct Ansier, the nUimiber of regenerators are increased

e & e A o gE &

Candidate Answer: the number of regenerqtors are increased

foRed i war d g g8 2

QID . 66 - Alcohal, ihich is a liguid Fuel is obtained From

IR, St Qe TRl So R 3 oTe gt 2

Options:

i) the distillotion of crude oit

e o o fefRdem

&) vegetable matters by the fermentation process

feruem ufekan grn aqeafa @t

3) destructive distillacion of coal
raet @1 Sagiaed e
4) None of these

1 ¥ @S g

Correct Ansier, vegetable matters by the fermentation process
e gt

feruem wfekam g

Candidate Ansiver, vegetable matters by the fermentation process
uferar gR1

QID : 67 - Which one of the Following relationships defines the Helmholtz Funcelon F7

frfef@a g d @ s @1 deriees e £ &t uRefta s 22

Cptlons.
[JF=H+TS

e)F=H-TS
3F=U-Ts

gl F=U+TV
Correct Ansiver, F = U - T5
Candlidate Answer. [ NOT ANSWERED ]

QID : 158 - Which one of the Following is the characteristic epuation of o real gas?

= # & @i o1 us adfaw 1 @ ik aelmer 87
Options.

1) (p+a/VC) (V-b} = RT
e) (o-0/Ve) (V-b) = RT
3) oV =RT

%) oV = nRT

Correct Answer, (pta/VE) (V-b) = RT
Candidate Answer: { p+a V" ) (V-8) = RT

Q1D : 169 -

d:0

"“Il.lQ

When a system undergoes a process such that |

and A S > 0, the process is:

e U@ et G ofia & TeRelt 3 [% =0 3R,
AS >0, VilaT gl ©
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Options:
1) irreversible adiabatic

&) reversible adiabatic
3) isothermal
4) fsobaric

Correct Answer. irreversible adigbatic

Candidate Answer. reversible agiobatic

Page 55

QID : W70 - In o tiwo-stage reciprocating air compressor, the suction and delivery pressures are | and 4 bar respectively, For maximum efficiency, the

intercooler pressure is

T SR IAREfET gan SR §, Juon oR R & arg wuar (/o ¢ R g &1 iR qem & Oy, SeRaier o ga g @

Options:
)15 bar
15 9R

é) ¢ bar
==L

3) 5 par
25 ER

4) 3 bar
3 bar

Correct Ansier. € bar
[l 1

Candlidate Answer. & bar
[l 1

QID 171 -

The total force acting on a plane horizontal surface
in a liquid is equal to (given that w = Specific weight
of water, X = Depth of liquid. A = Area of surface)

T axd H faAH &fds §ag R SRk $d
90 39 SR ¢ (T T g & w=arfl @1
ARy 9oM, X = R D1 T3 A = Tdg D

(a) wxd (b) wx
© ¥x e
A x

Options:

f)(a)

¢} (b)

3)(c)

%) (a)

Correct Answer: (o)
Candidate Answer: (a)

QID : 7€ - A uniform Flow is one ivhen

Qe HHM HATE 9% oidl & 99

Options:

1) the flow parameters at any given instant remain same at every point
At Feeprer UR By Ty ve Duier gdes fig W Us |®EE g

&) the Flow poarameters vary uniformly throughout

HaTg R @ s gar w0 & R gk §

3) an imaginary situgelon

U%

4) non-exfsting

Correct Ansiver. the Flow parameters at any given [nstant remaln same at every point
ft Feerre R e g ot BRHIeR udle fig W U 9 & I8

Candidate Answer. the Flow parameters at any given instant remain same at every point
ft Fepier 0¥ 2Q 7Y vt TRie wdes foig W ue ®WE g
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QID : 1173 - The Flow at critical depth In a ogen channel is

Qeh el Ael # Hgeyul Ew8 IR UATE g 6

Options:
1) maximum
I=ad

) minimum

AIH

3) zero

ol

&) half of normal flow
HHT Hdlg hT S8

Correct Answer;, masimuim
J=IdH

Candidate Answer: maximum
Ri=GL]

QHD : 7% - The maximum head loss in a pipe with bend angle

g 0T & T Uek U3y F S1idehaH 33 T
Cptions:
1) 0%

¢é)eo®

3) U-bend

783

4) 30°

Correct Answer: 60°
Candidate Answer: 30°

QD : 175 - The properey of a Fluld which determines ies resistance to shearing stresses /s called

e a¥er ugrd &t Fofy Tt & sawt ang & ufikty st Fuffa odt 2, 38 wer s £
Options:

1] viscosity

Tar

&) surface tension

dg 9119

3) comaressibility

EE S

4) None of these

4 & FE T

Correct Ansier, viscosity
teicol

Candidate Answer. viscosity
=EAr

QID : W76 - The Force per unit area is called

ufe gfte &= o &t Fer o @

Options:
I} pressure
TG

&) strain
BRI

3) surface tension

Hdal aE

4) None of these

T § @1 T

Correct Answer. pressure
odrg

Candldate Ansiver. pressure
&

QID : 177 - The resultant pressure (p) of the lould on a immersed surface will act ot

U §&f g5 §ds U7 &d & URUTHEEY gard (U 59 0 @ @
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Options:

1) a point of centre of gravity
e o U foig

Z) the lower edge of the surface

Hdg & fFaa Fn

3) the Upper edge of the surface

Tds & Sust R

4) None of these

Correct Answer. a point of centre of gravity
& H OF feig
Candidate Answer. o point of centre of gravity
% e H UF g

QID : 178 - A venturimeter is used to measure discharge through

Ueh dgiiHiex ol IuaT 5Heh Hied | fEwane st Ao & forg Iuai fear e €
Options:

i) a pipe

T R

&) an open channel

Qe Gell e
3) a welr
T

%ﬂocch

Correct Answer, o plpe
T Ui3Y

Candidate Answer. o pipe
Tsh Oi=sv

QID . W79 - The frictional resistance independent of

&1 o ofadly i & 309 @O 8

Options:

{) velocity of flow

EEIG

¢) temperature of Flow

TdTE i dTgHT

3) pressure of Flow

HETg &l g9

4) area of surface in contact
g & &5 Wudh A

Correct Answer. pressure of Flow
EEIFETR-CIE]

Candidate Answer. temperature of flow
TETg &l AHE

@0 : N80 - The matlon of whirlpool in o river |5

Tt A Hax & AIA @l FEd

Options:
1) rectilinear

c"}: radial

3) forced vortex

#) free vortew

o g )

Correct Answer: free vortel
Tk dlead

Candidate Answer. free vortes

ek dledd

QID : N8I - The line Joining the leading and training of the airfoil is knoin

Thigel & 3l iR uffiemr # anfAe g arelt 3an @t @t o &
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Cptlons.
1) orof :'Eg centre line

&) chord line
ar ¥

3) camber line
FrE AT

%) curvarure Une
gehdl

Correct Answer: chord line
ar Far

Candidate Answer. [ NOT ANSWERED |

QD : N8BS - The velocity For which the specific energy is minimum is known as

o nifa < forg e o=t =gmew & 39 &g oI &

Options:
{) maximum velocity

€} minimum velocity

AdH

3) critical velocity
ar
4) average velocity
mfa

Correct Ansier: critical velocity
Hg@yul aiT

Candlidate Ansiver. critical velocity

QID : 183 - The pressure of water In a Pelton wheel is

Sees e § U & 2EE @ Fed &

Optlons.
{) less than atmosphere
AR E HH

&) more than atmosphere
araTaRar ¥ St

3) epual to atmosphere
ATATERTT & EXTER

&) None of these

Correct Answer. equal to atmosphere
ATATERTT & FXTER

Candidate Answer. epual to atmosphere
ATEATERT & SXTER

QID : 8% - A single impeller pump deliver the maximum head of

Qeh Yehe! SRdeR UT 3ifdehad fEha-T 28 2aT &
Options.

i) 1om

e) oo m

3)coom

4) 500 m
Correct Answer. (00 m1
Candidate Answer. IO m

QID . 1185 - A pitot tube is usad to measure

T SE o ST 54 A & g R o &
Cptions:

1) discharge through a plpe

Qe UTEY & ATeAH FafEe

é) velocity of flow
HaTg I m‘g‘{

3) specific gravity

fafde g

4) viscosity

RuIE i

Correct Ansiier. velocity of Flow
HaTg i e
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Candlidate Ansiver. velocity of Flow
HaTg @i afa

QD ; 186 -

The head loss in a sudden expansion from 6 cm
diameter pipe to 12 cm diameter pipe in terms of velocity
v1 in the smaller diameter pipe is

BlIc a9 gy H 31 vi & Yoo # 3@He 6 9 g
B1 U ¥ 12 YéfHiex oy UEy o UggH H &S

qEgHEd e A fF e
ER S
@ 16'2g ®) 16_2g
7% a 2 o
© lﬁ-lg @ 16-2g
Cptlons,
I{a)}
é)(b)
3)(c)
4) (a)

Correct Ansier: (d)
Candidate Answier: [ NOT ANSWERED ]

QID : 187 - The parameters which determine the friction for turbulent Flow In a rough plpe are

ATES St el 7 foft usy # srenig werg & fog gdor Praffa e
Options:

1) Froude numper and relative roughness

TGS AT iR STdtee e

&) Froude number and Mach number

3) Reynolds number and relative roughness

Hivgy dw= 3R smifes g

4) Mach aumber and relative roughness

g et ofR amifivn Erem

Correct Ansiver: Reynolds number and relative roughness
Hivew @& JR amdfge Teeand

Candidate Answer: Mach number and relative roughness
HE AT 3R Sofae g

CHD : N88 - The volute casing of ‘a centrifugal pume has which of the Following Functions?

1. Eiminating loss of head due to change in velacity after exlt From impeller.
2. Directs the Flow towards the delivery pipe.

3. Converts o part of the velocity head to pressure hedd.

4, Gives g constamnt velocity of Flow.

Select the correct answer Using the codes given belonl.

U FrelugRe U & gee HEn & FE d O aF ot a @

|, SRR | ATg Faver & 91& 37 # gNacT o @i 8 & IhE & Wed STl
o, fameor urgy Y R varg & FERE e 2

3 <ATa gedh oY a7 B & S o &l uRalda @ g1
4 wang &t FRar a1 veE avar &

#r Ry T e F ITERT e OF IR T

Cptlons,

{1, ¢ and 4

1, & 3Ry

é)cand 3

& ¥R 3

3)lana 4

| 3 4

4) ¢ and 4

& MR 4

Correct Ansiver: € and 3
& iR 3

Candidate Ansiver. [ NOT ANSWERED |

www.ErForum.Net

Page 59

www.ErForum.Net



www.ErForum.Net www.ErForum.Net Page 60

QID : 189 -

Match List | with List || and select the correct answer
using the codes given below the lists

Td I & 9y Gl | ST Ad L SR T R sls &
FUGRT #R Tol SR I

List 1 List 1l

| il

(Measuring instrument) | (Variable to be measured)
(BRI B! {1 )
A | Hot-wire 1 | Discharge
anemometer
gle-arR fadga
TR

B | Pitot-tube 2 | Rotational speed
Urgele- e i
C | V-notch weir 3 | Velocity fluctuations
FAgIR IR AR 9g1a
D | Tachometer 4 | Stagnation pressure
Sgild gdid
Options:

1) A4 B-3; C-&; D+

&) A-3; B4 C-¢; D+

3) A4 8-3; C-, D¢

4) A3 B-%, C-; D€

Correct Answer, A-3; B-4; C-I; D-@¢
Candidate Answer, A-3; B-4; C-I; D-¢

QID : 190 - Which one of the Following statements Is correct? While Using boundary layer epuations, Bernoulll's epuation

7 7 & @i o1 U et &7 HA1 URd 9HIaT el JUFTT e §U, @Flell o SHiaeor

Options:
{) can be used anywhere
F ot ST HEhaT &
2) can be used only outside the boundary layer
e T IR & e TR R S e §
3) can be used only inside the boundary layer

thael U1 R & iR ST o o e 8

4) Cannor be used elther Inside or cutside the boundary layer
% ig g1 91 18T I T8 foRa 1 O &

Correct Answer, can be used only outside the boundary loyer
A T & aER W R o I &

Candidate Answer: can be used only inside the boundary layer
haet HiAT ta & oy seAe ey o Oear @

QHD : 191 - A Pelton wheel with single Jet rotates at 600 rom. The velocity of the Jet from the nozzle is {00 m/s. IF the ratic of the vane velocity of Jet velocity is
C44, what |s the diameter of the Pelton inheel?
U S & G U Ueed i 600 JRUGH 0T gHaT §1 e § S o1 37 /00 m/ s & i Fe 3 &t @ 31 044 g, ot Ueed Fie il e @ 87

Cptlons.
)07 m
e)lsm
3élm
4) a4 m

Correct Answer. [4 m
Candldate Answer. [ NOT ANSWERED ]

QID:Hee - A L0 m long model of @ ship Is towed at o speed of 8/ cm/s in o towing tank. To what speed of the ship, 6% m long does this correspond to?

Teh FAETd & /O Hies FA1 Hiser Ueh eIfdv & A 8/ cm/ s i ThAR © a1 STl & | FETe oh e TiTa o forg, 44 Hiet oial 59 & %y &l 9okl 27

Cptlons.
1) 780 m/s

&) 648 m/s
3) 576 m/s

#) 360 m/s
Correct Answver, 648 m/s
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Candidate Answier. [ NOT ANSWERED |

QID : 1193 - The Flow iwhich neglects changes in a transverse direction (s known as

waTg it uE sy R # ufiada di aden wxar & 39 wer 9T &

Ogtions:
{) one dimensional Flow
Qe SATH Harg
€} uniform Flow
HHATIR UdTg
3) steady flow
L
4) turbulent Flowm
S2MTd Udlg
Correct Answer: one dimensional flow
T AT T
Candidate Answer: one dimensicnal Flow
& ATt g

QHD : 9% - The region betiieen the separation streamline and the boundary surface of the solid body is knowin as

ST T &l AR EiAeTs o 1 9y & o9 & &F & el 9 8
Cptions:

g;rake

é) drog
g

3) Ure
feme

%) boundary layer
=t\T gea

Correct Ansier. inake

Candldate Answer. boundary layer
i 0|

QID : 1195 - For similarity, in addition to models being geometrically similar to prototype, the folloming in both cases should also be eoual

AT & forg, Atee & wafada w0 & wielersu & 9am g & 9y &, 2 At J B w6l o 3eE s e

Options:
1} rotio of inertial Force to fForce due to viscosity
faeniage & HROT Hagg! & oy S @e &1 g

&) ratio of inertial Force to Force due to gravitation
o TR &l T R G del Bl A
3) rotlo of inertial Force to Force due to surface tension
g a1d & AR a9 € SHATE de ol AT
#) all the Four ratios of inertial force ta Force ciue to viscosity, gravitation, surface tension and elasticity
, Tg 319 3fRR g & wrwr At & fory e e & wfi IR g

Correct Answver: all the Four ratios of inertial Force to Force due to viscosity, gravitation, surface tension and elasticity

T , g a1 AR A & &iL0] Hadel & folg Sa19del §ef & 99 IR SdTd

Candigate Answier: [ NOT ANSWERED |

QD : 196 - In g single casing, multi-stage pume running at constant speed, the capacity rating is to be slightly lowered. It can be done by

Uehel HTERVT 8, Oed)-ww Uy IR i & = 221 &, erven 2 &) uier o iR =i anfee) a8 39es g fam o gk 2

Options:

{) designing the new (mpeller

Y 3R &l fEemes &

&) trimming the impeller size to the reouired size by machining
[efifT Z11 TOTR AR i sigeas S A B we

3) not possible

g gl

4) some other alterations in the impeller

THieR # §B 37 FemE

Correct Ansier. trimming the impeller size to the repuired size by machining
AT g1 e R & S AR | T S

Candidate Ansiver. trimming the impeller size to the repuired size by machining
Tsfif gR1 3ee TFR &t H9TE WER § g &

QID : NG7 - The specific speed of turbine is defined as the speed of o unit

axEs i fafie aifd @t uen gerg & 1id & wu d oRwia famam mn g
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Options:

{) of such a size that it delivers unit discharge at unit head

29 g & AR &1 ok 98 g g8 W giHe e ugam &

&) of such a size that it delivers unit discharge at unit power

29 g & AR & U8 giHe UiaR IR giHe e a1 &

3) of such a size that it repUires Unit porter per Unit head

08 s & e 99 gfbe uer via gihe g & sravaear gidt &

4) of such g size thae ft produces Unit horse poiner with Unit head

T WE F HIFR &I foF I8 I5E S & WY IHE B TR FH I FT 2

Correct Ansiver. of such a size that it produces unit horse powier with unit head
o4 ONE & AR & 1th I8 515 B8 o 1Y SehIS G614 U1 & IadTe Hhidl &

Candidate Answer. of such @ size that it produces unit horse power with unit head
o9 THE & AR @ {th O 515 B8 & 1Y SIS 514 UTa & IcTe- Hhidl &

QID : 1198 -
If h and v stand for head and velocity and suffixes
s,d and ffor suction, delivery and friction, the
manometric head of a centrifugal pump is equal to

afg h AR v 35 AR 7T AR U@ 5, d 3R 1 gEo
faaRoT 3R IO & foTT W1 3, TP HRUeR® U &
TAR® IS R &

Alh, + h,
Blh, + hy + hy

Clh,+ h; + hf+%

Dlh, + hy+ h+ ;::

Options.
HaA

e)s
3¢

)0
Correct Answer. B
Candidate Answer. D

QD : 199 - The maximum efficiency of g Pelton wheel working under g constant head and discharge with the incregse in poker

O gl & ST e Sl R o 88 & A wm wee & ok ok 1 gig & 9Ty Haaw e @

Cptions:
{) increases

é) decreases

FH g1 5 8

3) remains unaffected

AU el &

&) initially increases and then decreases

U= A 5 o1t § SR e oe ot &
Correct Ansier. increases
e

Candldate Ansier. remains unaffected
TN E

QID : 1800 - The ratio of actual work available ot the turbine to energy imparted to the wheel (s called

ofger & & 7 It § wWaEa W Iuesy aRafas R & U & 98 F81 S §

Optlons:

) mechanical efficiency

it gamEr

¢} hydraulic efficiancy
SETT

3) overall efficiency

HHT E&TdT

4) turbine efficlancy

TG QETT

Correct Answer. mechanical efficiency
if3es e

Candidate Answer. turbine efficlency
[ECI QRS0
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